
MATHS

BOOKS - SURA MATHS (TAMIL ENGLISH)

ONE MARK QUESTIONS SET

Multiple Choice Question

1. If the ordered pairs  are equal to then (a, b)

is

A. 

B. 

C. 

D. 

Answer: D

(a + 2, 4) and (5, 2a + b)

(2, 2)

(5, 1)

(2, 3)

(3, − 2)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_rY2vcKJ4hfYI


Watch Video Solution

2. Composition of function is commutative ___.

A. Always true

B. Never true

C. Sometimes true

D. Depending upon the function.

Answer: C

Watch Video Solution

3. In an A.P., the first terms is 1 and the the common difference is 4. How

many terms of the A.P. must be taken for their sum to be equal to 120?

A. 

B. 

6

7

https://dl.doubtnut.com/l/_rY2vcKJ4hfYI
https://dl.doubtnut.com/l/_PQkJA0p74XRo
https://dl.doubtnut.com/l/_jroz6qBDbrWn


C. 

D. 

Answer: C

Watch Video Solution

8

9

4. The 8th term of the G.P. 9, 3, 1, ____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

243

423

1

243

1

423

https://dl.doubtnut.com/l/_jroz6qBDbrWn
https://dl.doubtnut.com/l/_bqJmTDOcc8uy


5. Which of the following should be added to make  a perfect

square.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x4 + 64

4x2

16x2

8x2

−8x2

6. What is the value of x in ?

A. 

B. 

C. 

D. 

3√x = 9

3

6

8

9

https://dl.doubtnut.com/l/_81h9XtHbJpm6
https://dl.doubtnut.com/l/_d94ifczL7LWm


Answer: D

Watch Video Solution

7. A square matrix, all of whose elements except those in the leading

diagonal are zero is called a ___ matrix.

A. Square

B. Scalar

C. Diagonal

D. Column

Answer: C

Watch Video Solution

8. Two poles of heights 6 m and 11 stand vertically on a plane ground. If

the distance between their feet is 12 m, what is the distance between

https://dl.doubtnut.com/l/_d94ifczL7LWm
https://dl.doubtnut.com/l/_z5eZhYbTQ9w8
https://dl.doubtnut.com/l/_QnGuUeb56wLn


their tops ?

A. 13m

B. 14m

C. 15m

D. 12.5m

Answer: A

Watch Video Solution

9. If A is a point on the Y-axis whose ordinate is 8 and B is a point on the

X-axis whose abscissae is 5 then the equation of the line AB is ___.

A. 

B. 

C. 

D. 

8x + 5y = 40

8x − 5y = 40

x = 8

y = 5

https://dl.doubtnut.com/l/_QnGuUeb56wLn
https://dl.doubtnut.com/l/_5dStRMZiRkNQ


Answer: A

Watch Video Solution

10. =___.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

co60∘ sin 30∘ + cos 30∘ sin 60∘

1

1

√2

1

2

√3

2

11. CSA of a hemisphere =____ sq.units.

A. πr2

https://dl.doubtnut.com/l/_5dStRMZiRkNQ
https://dl.doubtnut.com/l/_9OiRy8z5swu5
https://dl.doubtnut.com/l/_lBwXb9nAwEUz


B. 

C. 

D. 

Answer: B

Watch Video Solution

2πr2

3πr2

4πr2

12. The volume (in  of the greatest sphere that can be cut off from a

cylindrical log of wood of base radius 1 cm and height 5 cm is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cm3)

π
4
3

π
10

3

5π

π
20

3

https://dl.doubtnut.com/l/_lBwXb9nAwEUz
https://dl.doubtnut.com/l/_sbM1vszgBbwu


13. If the standard deviation of x, y, z is p then the standard deviation of

 is ___.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x + 5, 3y + 5, 3z + 5

3p + 5

3p

p + 5

9p + 15

14. A page is selected at random from a book. The probability that the

digit at units place of the page number chosen is less than 7 is

A. 

B. 

3

10

7
10

https://dl.doubtnut.com/l/_sbM1vszgBbwu
https://dl.doubtnut.com/l/_L2PVwOJOpUhj
https://dl.doubtnut.com/l/_AN43loNMSzC2


C. 

D. .

Answer: B

Watch Video Solution

3

9

7
9

15. If  is a bijective function and if , then n(A) is equal

to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f :A → B n(B) = 7

7

49

1

14

https://dl.doubtnut.com/l/_AN43loNMSzC2
https://dl.doubtnut.com/l/_fZ0rqEuBiQRz
https://dl.doubtnut.com/l/_7i1UtF6LmpjA


16. If  then ____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

n(A) = p and n(B) = q n(A × B)

p + q

pq

p

q

ϕ

17.  (mod 100)

A. 

B. 

C. 

D. 

74k =_ _

1

2

3

4

https://dl.doubtnut.com/l/_7i1UtF6LmpjA
https://dl.doubtnut.com/l/_Z594fdE1pfaZ


Answer: A

Watch Video Solution

18. Find the sum of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 + 3 + 5 + … + 55

874

487

784

487

19.  is

A. 

÷
3y − 3

y

7y − 7

3y2

9y

7

https://dl.doubtnut.com/l/_Z594fdE1pfaZ
https://dl.doubtnut.com/l/_YAhEoIacyX35
https://dl.doubtnut.com/l/_yQTMo3emLFNt


B. 

C. 

D. 

Answer: A

Watch Video Solution

9y3

21y − 21

21y3 − 42y + 21

3y3

7(y2 − 2y + 1)

y2

20. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

√361x4y2 =_ _

19xy

19xy2

19x2y2

19x2y

https://dl.doubtnut.com/l/_yQTMo3emLFNt
https://dl.doubtnut.com/l/_grhSk8szNqnF
https://dl.doubtnut.com/l/_LYXil2eTxeM3


21. Transpose of a columns matrix is

A. unit matrix

B. diagonal matrix

C. column matrix

D. row matrix

Answer: D

Watch Video Solution

22. If

then the length of AE=

A. 1.4m

B. 1.8m

C. 1.2m

△ ABC, DE ∣ ∣ BC, AB = 3.6m, AC = 2.4cm and AD = 2.1cm

https://dl.doubtnut.com/l/_LYXil2eTxeM3
https://dl.doubtnut.com/l/_nsy5XS5IilIt


D. 1.05m

Answer: A

Watch Video Solution

23. The point of intersection of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − y = 4 and x + y = 8

(5, 3)

(2, 4)

(3, 5)

(4, 4)

24. If  then .sin θ = cos θ 2 tan2 θ + sin2 θ − 1 =_ _

https://dl.doubtnut.com/l/_nsy5XS5IilIt
https://dl.doubtnut.com/l/_YxOFgoAO1cYD
https://dl.doubtnut.com/l/_XL38Rm81BRfg


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−3

2

3

2

2

3

−2

3

25. The angle of depression of the top and bottom of 20m tall building

from the top of a multistoried building are  respectively. The

height of the multi storied building and the distance between two

building (in meters) is ___.

A. 

B. 

C. 

D. 

30∘ and 60∘

20, 10√3

30, 5√3

20, 10

30, 10√3

https://dl.doubtnut.com/l/_XL38Rm81BRfg
https://dl.doubtnut.com/l/_ZJTYlHKlATn0


Answer: D

Watch Video Solution

26. The curved surface area of a right circular cone of height 15 cm and

base diameter 16 cm is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60πcm2

68πcm3

120πcm2

136πcm2

27. The range of the data 8,8,8,8,8..8 is

https://dl.doubtnut.com/l/_ZJTYlHKlATn0
https://dl.doubtnut.com/l/_yRC93Q2LU73q
https://dl.doubtnut.com/l/_ZKFOfB2oAfiq


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0

1

3

8

28. Probability of sure event is _____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0

1

−1

1

2

https://dl.doubtnut.com/l/_ZKFOfB2oAfiq
https://dl.doubtnut.com/l/_uKhzF6dwzBdS


29.  then  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

A = {a, b, p}, B = {2, 3}, C = {p, q, r, s} n[(A ∪ C) × B]

8

20

12

16

30. A function  defined by  is

called ____ function.

A. linear

B. quadratic

C. cubic

f :R → R f(x) = ax2 + bx + c, (a ≠ 0)

https://dl.doubtnut.com/l/_uKhzF6dwzBdS
https://dl.doubtnut.com/l/_041OeyJZPtbh
https://dl.doubtnut.com/l/_fpTFuPY3aj0T


D. reciprocal

Answer: B

Watch Video Solution

31. An A.P. consists of 31 terms. If its 16th terms is m, then the sum of all

the terms of this A.P. is

A. 31m

B. 62m

C. 31m

D. m

Answer: A

Watch Video Solution

31

2

https://dl.doubtnut.com/l/_fpTFuPY3aj0T
https://dl.doubtnut.com/l/_tT7T4LWctgWp


32. If G.P if  then the common ratio is ___.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

t1 = and t2 =
1

5

1

25

1

5

1

15

1

25

5

33. A system of three linear equations in three variables is inconsistent if

their planes.

A. intersect only at a point

B. Intersect in a line

C. coincides with other each

D. do not intersect

https://dl.doubtnut.com/l/_vmC2mBRS5BFS
https://dl.doubtnut.com/l/_F2TPlzwnGsdf


Answer: D

Watch Video Solution

34. .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

=_ _
x − 3

x2 − 9

x − 3

1

x − 3

x + 3

1

x + 3

35. If A is a  matrix and B is  matrix how many column does AB

have ____.

3 × 3 3 × 4

https://dl.doubtnut.com/l/_F2TPlzwnGsdf
https://dl.doubtnut.com/l/_shkJyQYO5hYf
https://dl.doubtnut.com/l/_GSKRoTsjg8jJ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

4

2

5

36. If , if  then

the value of  is ___.

A. 

B. 

C. 

D. 

Answer: B

△ LMN, ∠L = 60∘ , ∠M = 50∘
△ LMN − △ PQR

∠R

40∘

70∘

30∘

110∘

https://dl.doubtnut.com/l/_GSKRoTsjg8jJ
https://dl.doubtnut.com/l/_op98dyb6mXTJ


Watch Video Solution

37. The area of triangle formed by the points

 is

A. 0 sq.units

B. 25 sq.units

C. 5 sq.units

D. None of these

Answer: B

Watch Video Solution

( − 5, 0), (0, − 5) and (5, 0)

38. The inclination of x-axis and everyline parallel to X-axis is ___.

A. 

B. 

0∘

45∘

https://dl.doubtnut.com/l/_op98dyb6mXTJ
https://dl.doubtnut.com/l/_dgCIjbWlolO8
https://dl.doubtnut.com/l/_th45KgAm82SC


C. 

D. 

Answer: A

Watch Video Solution

60∘

90∘

39. If

then the value of k=___.

A. 9

B. 7

C. 5

D. 3

Answer: B

Watch Video Solution

(sin ∝ + cos ec ∝ )2 + (cos ∝ + sec ∝ )3 = k + tan2 ∝ + cot2 ∝ ,

https://dl.doubtnut.com/l/_th45KgAm82SC
https://dl.doubtnut.com/l/_j0Eq24pWVRw0


40. A shuttle cock used for playing badminton has the shape of the

combination of

A. a cylinder and a sphere

B. a hemisphere and a cone

C. a sphere and a cone

D. frustum of a cone and a hemisphere

Answer: D

Watch Video Solution

41. If the variance is 0.49 then the standard deviation is ____.

A. 

B. 

C. 

0.7

7

0.49

https://dl.doubtnut.com/l/_j0Eq24pWVRw0
https://dl.doubtnut.com/l/_LFO4qpzqUdD4
https://dl.doubtnut.com/l/_R7V3nQRAHFtK


D. 

Answer: A

Watch Video Solution

0.07

42. If a letter is chosen at random from the English alphabets {a, b,.., z},

then the probability that the tletter chosen precedes x

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

12

13

1

13

23

26

2

26

https://dl.doubtnut.com/l/_R7V3nQRAHFtK
https://dl.doubtnut.com/l/_RA0Nj5yRftOG


43. If  represents an identity functions then the values of a

and b are respectively

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

{(a, 8), (6, b)}

(8, 6)

(8, 8)

(6, 8)

(6, 6)

44. If  then 

A. 

B. 

C. 

D. 

n(A × B) = 20 and n(A) = 5 n(B) =

10

5

4

100

https://dl.doubtnut.com/l/_tRDsnO78oBs5
https://dl.doubtnut.com/l/_XS0iNuOI1PmR


Answer: C

Watch Video Solution

45. The next term of the sequences 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

, , , , …
3

16

1

8

1

12

1

18

1

24

1

27

2

3

1

81

46. In a G.P. . The the common ratio is ____.

A. 

t2 = and t3 =
3

5

1

5

1

5

https://dl.doubtnut.com/l/_XS0iNuOI1PmR
https://dl.doubtnut.com/l/_86jeYFBx65ob
https://dl.doubtnut.com/l/_9HFB4SPucPzl


B. 

C. 

D. 

Answer: B

Watch Video Solution

1

3

1

5

47.  gives

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−
x

x2 − 25

8

x2 + 6x + 5

x2 − 7x + 40

(x − 5)(x + 5)

x2 + 7x + 40

(x − 5)(x + 5)(x + 1)

x2 − 7x + 40

(x2 − 25)(x + 1)

x2 + 10

(x2 + 25)(x + 1)

https://dl.doubtnut.com/l/_9HFB4SPucPzl
https://dl.doubtnut.com/l/_x9joKzZUOXt2
https://dl.doubtnut.com/l/_0qY1Wq27ZCXk


48. The LCM of  is _____.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8x4y2, 48x2y4

48x4y4

48x4y2

48x2y4

48x4y2

49. Which of the following can be caluculated from the given matrices 

 


(i)  (ii)  


(iii)  (iv)

A. (i) and (ii) only

B. (ii) and (iii) only

A =
⎡
⎢
⎣

1 2

3 4

5 6

⎤
⎥
⎦

, B =
⎡
⎢
⎣

1 2 3

4 5 6

7 8 9

⎤
⎥
⎦

A2 B2

AB BA

https://dl.doubtnut.com/l/_0qY1Wq27ZCXk
https://dl.doubtnut.com/l/_QWXIonBPEzYF


C. (ii) and (iv) only

D. all of these

Answer: C

Watch Video Solution

50. In a given figure, ST||QR, PS=2 cm and QS=3 cm. Then the ratio of the

area of  to the area of  is ___. 

A. 

△ PQR △ PST

25: 4

https://dl.doubtnut.com/l/_QWXIonBPEzYF
https://dl.doubtnut.com/l/_KXOmGIKCF7py


B. 

C. 

D. 

Answer: A

Watch Video Solution

25: 7

25: 11

25: 13

51. The straight line given by the equation  is

A. parallel to x-axis

B. passing through the origin

C. parallel to y-axis

D. passing through the point (0, 11)

Answer: C

Watch Video Solution

x = 11

https://dl.doubtnut.com/l/_KXOmGIKCF7py
https://dl.doubtnut.com/l/_l0ImowchpfqG
https://dl.doubtnut.com/l/_NDwpdERMMcoK


52. The equation of a straight line passing through  and is parallel

to y-axis is ___.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(5, 7)

x = 5

x = 7

y = 5

y = 7

53. A tower is 60 m height. Its show is x metres shorter when the sun's

altitude is  than when it has been , then x is equal to

A. 41.92 m

B. 43.92 m

C. 43 m

45∘ 30∘

https://dl.doubtnut.com/l/_NDwpdERMMcoK
https://dl.doubtnut.com/l/_ooW8jKdGIPb5


D. 45.2 m

Answer: B

Watch Video Solution

54. The total surface area of a hemi-sphere is how much times the square

of its radius.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

π

2π

3π

4π

https://dl.doubtnut.com/l/_ooW8jKdGIPb5
https://dl.doubtnut.com/l/_W1illUzsZ4Rn


55. If the mean and coefficient of variation of a data are 4 and 87.5 % then

the standard deviation is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3.5

3

4.5

2.5

56. The probability a red marble selected at random from a jar containing

p red, q blue and r green marbles is

A. 

B. 

C. 

q

p + q + r

p

p + q + r

p + q

p + q + r

https://dl.doubtnut.com/l/_sdxFFomZ6lNU
https://dl.doubtnut.com/l/_xG3y3jC7j2v8


D. 

Answer: B

Watch Video Solution

p + r

p + q + r

57. If , then  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

n(A × B) = 6 and A = {1, 3} n(B)

1

2

3

6

https://dl.doubtnut.com/l/_xG3y3jC7j2v8
https://dl.doubtnut.com/l/_jMcUebiEy0Jk


58. If  is a bijective function and if , then n(B) is equal

to ____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f :A → B n(A) = 5

10

4

5

25

59. Euclid's division lemma states that for positive integers a and b, there

exist unique integers q and r such that , where r must satisfy.

A. 

B. 

C. 

a = bq + r

1 < r < b

0 < r < b

0 ≤ r < b

https://dl.doubtnut.com/l/_uGWLu9EXKMKv
https://dl.doubtnut.com/l/_pDlzKzdQV0xQ


D. 

Answer: C

Watch Video Solution

0 < r ≤ b

60. The value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(13 + 23 + 33 + … + 153) − (1 + 2 + 3 + … + 15)

14400

14200

14280

14520

https://dl.doubtnut.com/l/_pDlzKzdQV0xQ
https://dl.doubtnut.com/l/_7VHdHSuJzhy6


61. The solution of the system

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x + y − 3z = − 6, − 7y + 7z = 7, 3z = 9

x = 1, y = 2, z = 3

x = − 1, y = 2, z = 3

x = − 1, y = − 2, z = 3

x = 1, y = − 2, z = − 3

62. Graph of a linear polynomial is a

A. straight

B. circle

C. parabola

D. None of these

https://dl.doubtnut.com/l/_lPZgDv1wn1TO
https://dl.doubtnut.com/l/_Fh5GpZg7wC4v


Answer: A

Watch Video Solution

63. If the order of A is  and order of B is  then the order of the

product AB=____.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4 × 3 3 × 2

4 × 2

4 × 3

3 × 2

3 × 3

64. The two tangents from an external points P to a circle with centre at

O are PA and PB. If  then the value of  is∠APB = 70∘ ∠AOB

https://dl.doubtnut.com/l/_Fh5GpZg7wC4v
https://dl.doubtnut.com/l/_YaT1Mx1SUcVM
https://dl.doubtnut.com/l/_xeK23AJgkKon


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

100∘

110∘

120∘

1302

65. In the adjacent figure  then 


A. 

∠BAC = 90∘ and AD ⊥ BC

DB ⋅ CD = BC 2

https://dl.doubtnut.com/l/_xeK23AJgkKon
https://dl.doubtnut.com/l/_EW2pZbHLdPGd


B. 

C. 

D. 

Answer: C

Watch Video Solution

AB ⋅ AC = BC 2

BD ⋅ CD = AD2

AB ⋅ AC = AC 2

66. The slope of the line which is perpendicular to a line joining the

points  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, 0) and ( − 8, 8)

−1

1

1

3

−8

https://dl.doubtnut.com/l/_EW2pZbHLdPGd
https://dl.doubtnut.com/l/_0WYAYewVmAPH


67.  then  is

equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a cot θ + b cos ecθ = p and b cot θ + a cos ecθ = q p2 − q2

a2 − b2

b2 − a2

a2 + b2

b − a

68. The height and radius of the cone of which the frustum is a part are

 units and  units respectively. Height of the frustum is  units and

radius of the smaller base is  units. If  is

A. 

h1 r1 h2

r2 h2 : h1 = 1: 2  then r2 : r1

1: 3

https://dl.doubtnut.com/l/_0WYAYewVmAPH
https://dl.doubtnut.com/l/_JD54ykcjsku8
https://dl.doubtnut.com/l/_Zf1t32PhLwrX


B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 2

2: 1

3: 1

69. The mean of 100 observations is 40 and their standard deviation is 3.

The sum of square of all observation is ____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

40000

160900

160000

30000

https://dl.doubtnut.com/l/_Zf1t32PhLwrX
https://dl.doubtnut.com/l/_EChiw65B09J4


70. Kamalam went to play a lucky draw contest. 135 tickets of the lucky

draw were sold. If the probability of Kamalam winning is , then the

number of tickets bought by Kamalam is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

9

5

10

15

20

71. If there are 1024 relations from a set  to a set B,

then the number of elements in B is

A. 

A = {1, 2, 3, 4, 5}

3

https://dl.doubtnut.com/l/_EChiw65B09J4
https://dl.doubtnut.com/l/_c6flPmdwt2LF
https://dl.doubtnut.com/l/_0IZRUlOIuT5o


B. 

C. 

D. 

Answer: B

Watch Video Solution

2

4

8

72. a plane is flying at a speed of 500 km per hour. Express the distance d

travelled by the plane as function of time t in hours.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

500t

500d

500dt

500

https://dl.doubtnut.com/l/_0IZRUlOIuT5o
https://dl.doubtnut.com/l/_ZT9wYdGaelV9


73. Using Euclid's division lemma, if the cube of any positive integers is

divided by 9 then the possible remainders are ___.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0, 1, 8

1, 4, 8

0, 1, 3

1, 3, 5

74. If G.P if  then the common ratio is ___.

A. 

B. 

C. 

t1 = and t2 =
1

5

1

25

1

25

1

5

1

125

https://dl.doubtnut.com/l/_ZT9wYdGaelV9
https://dl.doubtnut.com/l/_hTck7bkSHX2G
https://dl.doubtnut.com/l/_i7D1NWyb32Ll


D. 

Answer: B

Watch Video Solution

1

30

75. The solution of  is equal to

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

(2x − 1)2 = 9

−1

2

−1, 2

76. The value of  when x=4 is ___.√(1 − x)2(2 − x)2(3 − x)2

https://dl.doubtnut.com/l/_i7D1NWyb32Ll
https://dl.doubtnut.com/l/_XfbXTQhh92Ik
https://dl.doubtnut.com/l/_aQpF23QTBYB7


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3

−3

6

−6

77. If the order of matrix A is  and the order of B is  then the

order of BA is ___.

A. 

B. 

C. 

D. Not defined

Answer: B

3 × 4 4 × 3

3 × 3

4 × 4

4 × 3

https://dl.doubtnut.com/l/_aQpF23QTBYB7
https://dl.doubtnut.com/l/_6eSUHnNRjgKE


Watch Video Solution

78. In the given figure, PR= 26 cm, QR=24 cm, 

and QA=8 cm. Find  


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

PAQ = 90∘ , PA = 6cm

∠PQR

80∘

85∘

75∘

90∘

https://dl.doubtnut.com/l/_6eSUHnNRjgKE
https://dl.doubtnut.com/l/_qFgTo8v3CbLy


79. A straight line has equation . Which of the following is

true

A. The slope is 0.5 and the y intercept is 2.6

B. The slope is 5 and the y intercept is 1.6

C. The slope is 0.5 and the y intercept is 1.6

D. The slope is 5 and the y intercept is 2.6.

Answer: D

Watch Video Solution

8y = 4x + 21

80. The value of  is equal to

A. 

B. 

C. 

sin2
θ +

1

1 + tan2 θ

tan2 θ

1

cot2 θ

https://dl.doubtnut.com/l/_qFgTo8v3CbLy
https://dl.doubtnut.com/l/_TAaY0cZ4NCI5
https://dl.doubtnut.com/l/_y7t3jHsDcPxC


D. 

Answer: B

Watch Video Solution

0

81. The angle of elevation of a cloud from a point h metres above a lake is

. The angle of depression of its reflection in the lake is . The height

of location of the cloud from the lake is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

β 45∘

h(1 + tanβ)

1 − tanβ

h(1 − tanβ)

1 + tanβ

h tan(45∘ − β)

https://dl.doubtnut.com/l/_y7t3jHsDcPxC
https://dl.doubtnut.com/l/_FWL5mZoXSclR
https://dl.doubtnut.com/l/_YxaQxKOLytpQ


82. If the radius of the base of a right circular cylinder is halved keeping

the same height, then the ratio of the volume of the cylinder thus

obtained to the volume of original cylinder is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1: 2

1: 4

1: 6

1: 8

83. Variance of first 20 natural numbers is

A. 

B. 

C. 

32.25

44.25

33.25

https://dl.doubtnut.com/l/_YxaQxKOLytpQ
https://dl.doubtnut.com/l/_y5dFm7zhSIFi


D. 

Answer: C

Watch Video Solution

30

84. The probability of an impossible event is ____.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0

1

2

−1

https://dl.doubtnut.com/l/_y5dFm7zhSIFi
https://dl.doubtnut.com/l/_9tRAJNTeN9vj


85. If the ordered pairs  are equal to then (a,

b) is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(a + 2, 4) and (5, 2a + b)

(2, − 2)

(5, 1)

(2, 3)

(3, − 2)

86.  represents a functions which is

A. linear

B. cubic

C. reciprocal

D. quadratic

f(x) = (x + 1)3 − (x − 1)3

https://dl.doubtnut.com/l/_z8GACnq4MDVa
https://dl.doubtnut.com/l/_aXS1wJeEtI8L


Answer: D

Watch Video Solution

87. If  which of the

following is true?

A. B is 264 more than A

B. A and B are equal

C. B is larger than A by 1

D. A is larger than B by 1

Answer: D

Watch Video Solution

A = 265 and B = 264 + 263 + 262 + … + 20

88. If  are in G.P. then x is ___.3, x, 6.75

https://dl.doubtnut.com/l/_aXS1wJeEtI8L
https://dl.doubtnut.com/l/_rtE2GNaa1psg
https://dl.doubtnut.com/l/_XeKdey6lzOde


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3.5

3.75

4.5

4.75

89. The number of points of intersection of the quadratic polynomial

 with the X axis.

A. 

B. 

C. 

D. 

Answer: B

x2 + 4x + 4

0

1

0 or 1

2

https://dl.doubtnut.com/l/_XeKdey6lzOde
https://dl.doubtnut.com/l/_MbwJD4Vb7bwX


Watch Video Solution

90. The square root of  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

256x8y4z10

25x6y6z6

∣
∣
∣

∣
∣
∣

16

5
x2x4

y2

∣
∣
∣

∣
∣
∣

16

5

y2

x2z4

∣
∣
∣

∣
∣
∣

16

5

y

xz2

∣
∣
∣

∣
∣
∣

16

5

xz2

y

91. If  which of

the following statements are correct? 

(i)  (ii)  


(iii)  (iv) 

A = [
1 2 3

3 2 1
], B = [

1 2 3

3 2 1
] and C = [

0 1

−2 5
]

AB + C = [
5 5

5 5
] BC =

⎡
⎢
⎣

0 1

2 −3

−4 10

⎤
⎥
⎦

BA + C = [
2 5

3 0
] (AB)C = [

−8 20

−8 13
]

https://dl.doubtnut.com/l/_MbwJD4Vb7bwX
https://dl.doubtnut.com/l/_tKttpOsKuQZK
https://dl.doubtnut.com/l/_4vrcFlP385eb


A. (i) and (ii) only

B. (ii) and (iii) only

C. (iii) and (iv) only

D. all of these

Answer: A

View Text Solution

92. In figure CP and CQ are tangents to a circle with centre at 0. ARB is

another tangent touching the circle at R. If 

, then the length of BR is ___. 

CP = 11cm and BC = 7cm

https://dl.doubtnut.com/l/_4vrcFlP385eb
https://dl.doubtnut.com/l/_f2KSYB34apQz


A. 6cm

B. 5cm

C. 8cm

D. 4cm

Answer: D

Watch Video Solution

93. When proving that a quadrilateral is a parallelogram by using slopes

you must find

A. The slopes of two sides

B. The lengths of all sides

C. The slopes of two pair of opposite sides

D. Both the length and slopes of two sides

Answer: B

https://dl.doubtnut.com/l/_f2KSYB34apQz
https://dl.doubtnut.com/l/_6LXhWshRdwgU


Watch Video Solution

94. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 − tan2 45∘ =_ _ .

0

1

−1

√3

95. The height of a right circular cone whose radius is 5 cm and slant

height is 13 cm will be

A. 12cm

B. 10cm

https://dl.doubtnut.com/l/_6LXhWshRdwgU
https://dl.doubtnut.com/l/_sDyBVbxLv5bk
https://dl.doubtnut.com/l/_t4eaIkI8pEeP


C. 13 cm

D. 5cm

Answer: A

Watch Video Solution

96. The ratio of following area of a sphere and CSA of hemisphere is ___.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1: 2

1: 3

2: 1

2: 3

https://dl.doubtnut.com/l/_t4eaIkI8pEeP
https://dl.doubtnut.com/l/_DM5IrSMd9ywL


97. Which of the following is not a measure of dispersion ?

A. Range

B. Standard deviation Arithemetic mean

C. Arithmetic mean

D. Variance

Answer: C

Watch Video Solution

98. What will be the probability that a non-leap year will have 53

saturdays?

A. 

B. 

C. 

D. 

1

7

2

7

3

7

5

7

https://dl.doubtnut.com/l/_8ctsxjKn203z
https://dl.doubtnut.com/l/_hvNtKGYLica9


Answer: A

Watch Video Solution

99. If  and D={5, 6, 7, 8}` then

state which of the following statement is true.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A − {1, 2}, B = {1, 2, 3, 4}, C = {5, 6}

(A × C) ⊂ (B × D)

(B × D) ⊂ (A × C)

(A × B) ⊂ (A × D)

(D × A) ⊂ (B × A)

100. Composition of function is associative.

https://dl.doubtnut.com/l/_hvNtKGYLica9
https://dl.doubtnut.com/l/_237soEKHSorb
https://dl.doubtnut.com/l/_FUnG6kaaYcyo


A. Always true

B. Never true

C. Sometimes true

D. Depending upon the function.

Answer: A

Watch Video Solution

101. If the H.C.F. of 65 and 117 is expressible in the form of ,

then the value of m is

A. 

B. 

C. 

D. 

Answer: B

65m − 117

4

2

1

3

https://dl.doubtnut.com/l/_FUnG6kaaYcyo
https://dl.doubtnut.com/l/_c1AC9DLx6axX


Watch Video Solution

102. Find the sum of the following series 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1 + 3 + 5 + … + 71

2196

9126

1296

7196

103. If the roots of the equation  are the squares of

the roots of the equation  then q, p, r are in ___.

A. A.P.

q2x2 + p2x + r2 = 0

qx2 + px + r = 0

https://dl.doubtnut.com/l/_c1AC9DLx6axX
https://dl.doubtnut.com/l/_8ilUA4goUB96
https://dl.doubtnut.com/l/_CWhdd0dpvGQi


B. G.P.

C. Both A.P. and G.P.

D. None of these

Answer: B

View Text Solution

104. Who is the "father of algebra"?

A. Leibniz

B. Euclid

C. Al-khwarizmi

D. Pythagoras

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CWhdd0dpvGQi
https://dl.doubtnut.com/l/_gxNL31tlYYP5
https://dl.doubtnut.com/l/_dsg6cfOzV4Rv


105. Find the matrix X if 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2X + [
1 3

5 7
] = [

5 7

9 5
]

[
−2 −2

2 −1
]

[
2 2

2 −1
]

[
1 2

2 2
]

[
2 1

2 2
]

106. A tangent is perpendicular to the radius at the

A. centre

B. Point of contact

C. infinity

D. chord

https://dl.doubtnut.com/l/_dsg6cfOzV4Rv
https://dl.doubtnut.com/l/_VHEH9lGPFnuI


Answer: B

Watch Video Solution

107. A man walks near a wall, such that the distance between him and the

wall is 10 units. Consider the wall to be the Y axix. The path travelled by

the man is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = 10

y = 10

x = 0

y = 0

108. The angle inclination of a line parallel to Y-axis is ___.

https://dl.doubtnut.com/l/_VHEH9lGPFnuI
https://dl.doubtnut.com/l/_wwAjoqQfbpx3
https://dl.doubtnut.com/l/_nuldkm5WSJHH


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0∘

30∘

60∘

90∘

109. Two persons are standing 'x' metres apart from each other and the

height of the first person is double that of the other. If from the middle

points of the linejoining their their feet an observe finds the angular

elevations of their tops to be complementary, then the height of the

shorter person (in metres) is

A. 

B. 

C. 

√2

x

2√2

x

√2

https://dl.doubtnut.com/l/_nuldkm5WSJHH
https://dl.doubtnut.com/l/_59761pHCpFyc


D. 

Answer: B

Watch Video Solution

2x

110. A frustum of a right circular cone is of height 16 cm with radii of its

ends as 8 cm and 20 cm. Then, the voume of the frustum is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3328πcm3

3228πcm3

3240πcm3

3340πcm3

https://dl.doubtnut.com/l/_59761pHCpFyc
https://dl.doubtnut.com/l/_d1v5X4wpAzFr


111. If the sm of 10 data values is 265 then their mean is ____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

275

26.5

255

2650

112. A purse contains 10 notes of Rs. 2000, 15 notes of Rs. 500, and 25

notes of Rs. 200. One note is drawn at random. What is the probability

that the note is either a Rs. 500 note or Rs. 200 note ?

A. 

B. 

C. 

1

5

3

10

2

3

https://dl.doubtnut.com/l/_WmrF7G5wN55C
https://dl.doubtnut.com/l/_KhqHUEO3x9J4


D. 

Answer: D

Watch Video Solution

4
5

113. A relation which contains no element is called a ___.

A. equal relation

B. null relation

C. unequal relation

D. Cartesian product

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KhqHUEO3x9J4
https://dl.doubtnut.com/l/_ZZLHUnV0TJqq


114. Let f and g be two functions given by

 


 then the range of fog is ___.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f = {(0, 1), (2, 0), (3, − 4), (4, 2), (5, 7)}

g(x) = {(0, 2), (1, 0), (2, 4), ( − 4, 2), (7, 0)

{0, 2, 3, 4, 5}

{ − 4, 1, 0, 2, 7}

{1, 2, 3, 4, 5}

{0, 1, 2}

115. Given  then  is ____.

A. 

B. 

C. 

F1 = 1, F2 = 3 and Fn = Fn− 1 + Fn− 2 F3

3

5

8

https://dl.doubtnut.com/l/_DjSHz1kk0Lls
https://dl.doubtnut.com/l/_wVYSPg1YYZmN


D. 

Answer: D

Watch Video Solution

11

116. Who is the " Father of Geometry"?

A. Euclid

B. Thales

C. Pythagoras

D. Al-khwarizmi

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_wVYSPg1YYZmN
https://dl.doubtnut.com/l/_mblWWwPnlGOP


117. Find the LCM of the given expressions. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4x2y, 8x3y2

32x2y2

12x3y2

8x3y2

8x2y3

118. The values of a and b if  is a perfect

square are

A. 

B. 

C. 

4x4 − 24x3 + 76x2 + ax + b

100, 120

−120, 100

10, 12

https://dl.doubtnut.com/l/_dezEeAj2X7cp
https://dl.doubtnut.com/l/_HvQVkkEvDXGP


D. 

Answer: B

Watch Video Solution

12, 10

119. If number of columns and rows are not equal in a matrix then it is

said to be a

A. diagonal matrix

B. rectangular matrix

C. square matrix

D. identity matrix

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HvQVkkEvDXGP
https://dl.doubtnut.com/l/_rkA0Vmp7kyAK


120. If in triangles ABC and EDF,  then they will be similar,

when

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

=
AB

DE

BC

FD

∠B = ∠E

∠A = ∠D

∠B = ∠D

∠A = ∠E

121. Consider four straight lines 

(i)  (ii)  

(iii)  (iv)

A.  are perpendicular

B.  are parallel

l1 = 3y = 4x + 5 l2 : 4y = 3x − 1

l3 : 4y + 3y = 7 l44x + 3y = 2

l1 and l2

l1 and l4

https://dl.doubtnut.com/l/_azL76aBFUJQj
https://dl.doubtnut.com/l/_kdPP47SlnYjN


C.  are perpendicular

D.  are parallel

Answer: C

Watch Video Solution

l2 and l4

l2 and l4

122.  is the points of intersection of two lines

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2, 1)

x − y − 3 = 0, 3x − y − 7 = 0

x + y = 3, 3x + y = 7

3x + y = 3, x + y = 7

x + 3y − 3 = 0, x − y − 7 = 0

https://dl.doubtnut.com/l/_kdPP47SlnYjN
https://dl.doubtnut.com/l/_zKU21cfO0rSf


123. If  then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = a tan θ and y = b secθ

− = 1
x2

a2

y2

b2

− = 1
y2

b2

x2

a2

+ = 1
x2

a2

y2

b2

− = 1
x2

a2

y2

b2

124. In a hollow cylinder, the sum of the external and internal radii is 14

cm and the width is 4 cm. If its height is 20 cm, the volume of the material

in it is

A. 

B. 

C. 

5600πcm3

1120πcm3

56πcm3

https://dl.doubtnut.com/l/_r4lzoE4prsHG
https://dl.doubtnut.com/l/_lvCtAzowwBse


D. 

Answer: B

Watch Video Solution

3600πcm3

125. The sum of all deviations of the data from its mean is

A. always positive

B. always negative

C. zero

D. non-zero integer

Answer: C

Watch Video Solution

126. Which of the following is incorrect ?

https://dl.doubtnut.com/l/_lvCtAzowwBse
https://dl.doubtnut.com/l/_eYrcipdClCv1
https://dl.doubtnut.com/l/_JTHqLFZwVpTM


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P (A) > 1

0 ≤ P (A) ≤ 1

P (Φ) = 0

P (A) + P (A) = 1

127. The range of the relation  is a prime number less

than 13} is

A. 

B. 

C. 

D. 

Answer: C

r = {(x, x2) ∣ x

{2, 3, 5, 7}

{2, 3, 5, 7, 11}

{4, 9, 45, 49, 121}

{1, 4, 9, 25, 49, 121}

https://dl.doubtnut.com/l/_JTHqLFZwVpTM
https://dl.doubtnut.com/l/_FUzVPmzuLCia


Watch Video Solution

128. Let . A function 

given by  is a

A. Many-one function

B. Identity function

C. One-to-one function

D. into function

Answer: C

Watch Video Solution

A = {1, 2, 3, 4} and B = {4, 8, 9, 10} f :A → B

f = {(1, 4), (2, 8), (3, 9), (4, 10)}

129. If 6 times of 6th term of an A.P. is equal to 7 times term, then the 13th

term of the A.P. is

A. 0

https://dl.doubtnut.com/l/_FUzVPmzuLCia
https://dl.doubtnut.com/l/_5jEa1lNbZNmV
https://dl.doubtnut.com/l/_LvBRwanQxJ5U


B. 

C. 

D. 

Answer: A

Watch Video Solution

6

7

13

130. Find the sum of  to 40 terms

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1 + 3 + 5 + … +

1600

1060

1640

1460

https://dl.doubtnut.com/l/_LvBRwanQxJ5U
https://dl.doubtnut.com/l/_j4ai6yuh4h37
https://dl.doubtnut.com/l/_1nTPui9Q7w3z


131. If (x-6) is the HCF of  then the value

of k is.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 − 2x − 24 and x2 − kx − 6

3

5

6

8

132. The square root of  is ___.

A. 

B. 

C. 

D. 

361x4y2

17x4y2

29x2y

19x2y

19x4y2

https://dl.doubtnut.com/l/_1nTPui9Q7w3z
https://dl.doubtnut.com/l/_eUm68hwdAnim


Answer: C

Watch Video Solution

133. For the given matrix  the order of the matrix 

 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A =
⎡
⎢
⎣

1 3 5 7

2 4 6 8

9 11 13 15

⎤
⎥
⎦

AT

2 × 3

3 × 2

3 × 4

4 × 3

https://dl.doubtnut.com/l/_eUm68hwdAnim
https://dl.doubtnut.com/l/_UUAJ3uViokRX


134. If  is an isosceles triangle with  and AC=5 cm, then

AB is

A. 2.5 cm

B. 5cm

C. 10 cm

D. 

Answer: D

Watch Video Solution

ΔABC ∠C = 90∘

5√2

135. If the slope of the line PQ is  then slope of the perpendicular

bisector of PQ is

A. 

B. 

C. 

1

√3

√3

−√3

1

√3

https://dl.doubtnut.com/l/_JmS6fJKUrRIf
https://dl.doubtnut.com/l/_xz9Z1kNhBZ0k


D. 

Answer: B

Watch Video Solution

0

136. If , then the value of 

 is equal to

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin θ + cos θ = a and secθ + cos ecθ = b

b(a2 − 1)

2a

3a

0

2ab

https://dl.doubtnut.com/l/_xz9Z1kNhBZ0k
https://dl.doubtnut.com/l/_PL47amyDk8Ln


137. The total surface area of a cylinder whose radius is  of its height is

A.  sq.units

B.  sq.units

C.  sq.units

D.  sq.units

Answer: C

Watch Video Solution

1

3

9πh2

8

24πh2

8πh2

9

56πh2

9

138. The ratio of the volumes of a cylinder, a cone and a sphere, if each

has the same diameter and same height is

A. 

B. 

C. 

D. 

1: 2: 3

2: 1: 3

1: 3: 2

3: 1: 2

https://dl.doubtnut.com/l/_wN83hSof5sI4
https://dl.doubtnut.com/l/_99xGn6MFYNUN


Answer: D

Watch Video Solution

139. If the sum and mean of a data are 407 and 11 respectively, then the

number of observations in the height is ___.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

47

37

57

41

140. If  then ____.P (A ∩ B) = 0.3, P( ¯̄̄A ∩ B) = 0.45 P (B) =

https://dl.doubtnut.com/l/_99xGn6MFYNUN
https://dl.doubtnut.com/l/_U3BFLDrAtd0L
https://dl.doubtnut.com/l/_NS9hS1Lu530e


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.75

0.15

0.48

0.42

141. Let  that the total number of non-empty

relations that can be defined from A to B is

A. 

B. 

C. 

D. 

Answer: C

n(A) = m and n(B) = n

mn

nm

2mn − 1

2mn

https://dl.doubtnut.com/l/_NS9hS1Lu530e
https://dl.doubtnut.com/l/_ORyciqcm1i1H


Watch Video Solution

142. Which one of the following is not true statements?

A. Relation is the subset of function

B. Function is the subset of relation

C. Relation is the subset of cartesian product

D. Function is the subset of cartesian product

Answer: A

Watch Video Solution

143. The least number that is divisible by all the numbers from 1 to 10

(both inclusive) is

A. 

B. 

2025

5220

https://dl.doubtnut.com/l/_ORyciqcm1i1H
https://dl.doubtnut.com/l/_k4fnMRcuuYJ2
https://dl.doubtnut.com/l/_PGmTxCvW6Xj7


C. 

D. 

Answer: D

Watch Video Solution

5025

2520

144. The number of terms in the A.P. 3, 6, 9,12, ….111 is _____.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

108

55

111

37

https://dl.doubtnut.com/l/_PGmTxCvW6Xj7
https://dl.doubtnut.com/l/_OXJFHFkBFoN7


145. A linear equation in three variables of the form

 represents a ____.

A. straight line

B. plane

C. circle

D. parabola

Answer: B

Watch Video Solution

ax + by + cz + d = 0

146. Graph of a linear polynomial is a

A. straight line

B. circle

C. parabola

D. hyperbola

https://dl.doubtnut.com/l/_RFEABQOgVxVY
https://dl.doubtnut.com/l/_9srqluhdGO75


Answer: A

Watch Video Solution

147.  is a ___ matrix.

A. scalar

B. upper triangular

C. Diagonal

D. lower triangular

Answer: B

Watch Video Solution

⎡
⎢
⎣

1 7 −3

0 2 4

0 0 7

⎤
⎥
⎦

148. In figure if PR is tangent to the circle at P and O is the centre of the

circle, then  is ____.∠POQ

https://dl.doubtnut.com/l/_9srqluhdGO75
https://dl.doubtnut.com/l/_aYS166GtPetP
https://dl.doubtnut.com/l/_cKWY82exXHwk


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

120∘

100∘

110∘

90∘

149. If  are collinear, then the value of p is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(5, 7), (3, p) and (6, 6)

3

6

9

12

https://dl.doubtnut.com/l/_cKWY82exXHwk
https://dl.doubtnut.com/l/_FGOzsiYeJBrA


150. When proving that quadrilateral is a trapezium it is neccesary to

show ____.

A. two sides are parallel

B. opposite sides are parallel

C. two parallel an two non-parallel sides

D. all sides are of equal length

Answer: C

Watch Video Solution

151.  is equal to

A. 

B. 

C. 

tan θ cos ec2θ − tan θ

secθ

cot2 θ

sin θ

https://dl.doubtnut.com/l/_FGOzsiYeJBrA
https://dl.doubtnut.com/l/_brkDDAKn0ufL
https://dl.doubtnut.com/l/_lXiDzkBvxYeb


D. 

Answer: D

Watch Video Solution

cot θ

152. If two solid hemispheres of same base radius r units are joined

together along their bases, then curved surface area of this new solid is

A.  sq. units

B.  sq.units

C.  sq.units

D.  sq.units

Answer: A

Watch Video Solution

4πr2

6π2

3πr2

8πr2

https://dl.doubtnut.com/l/_lXiDzkBvxYeb
https://dl.doubtnut.com/l/_bZxuyvrDTtAL


153. If the radius of the base of a cone is tripled and the height is doubled

then the volume is

A. made 6 times

B. made 18 times

C. made 12 times

D. unchanged

Answer: B

Watch Video Solution

154. The probability of getting a job for a person is . If the probability

of not getting the job is  then the value of x is

A. 

B. 

C. 

x

3
2

3

2

1

3

https://dl.doubtnut.com/l/_x4Q1x4oWHcMt
https://dl.doubtnut.com/l/_3ncsuZwwYkY1


D. 

Answer: B

Watch Video Solution

1.5

155. If . Then fog is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = 2x2 and g(x) =
1

3x

3

2x2

2

3x3

2

9x2

1

x2

https://dl.doubtnut.com/l/_3ncsuZwwYkY1
https://dl.doubtnut.com/l/_bavhlTM23H22


156. If a function  is both one-one and onto then f is called

a____.

A. into function

B. many one function

C. bijection

D. onto function

Answer: C

Watch Video Solution

f :A → B

157. The first term of an arithmetic progressions is unity and the common

difference is 4. Which of the following will be a term of this A.P.

A. 

B. 

C. 

4551

10091

7881

https://dl.doubtnut.com/l/_VUTOQUq1dsYY
https://dl.doubtnut.com/l/_p8bqFOD0KbWC


D. 

Answer: C

Watch Video Solution

12531

158. If  (mod 7) then find  (mod 7).

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

59 ≡ 3 368 ≡_

4

5

6

7

159.  is not equal toy2 +
1

y2

https://dl.doubtnut.com/l/_p8bqFOD0KbWC
https://dl.doubtnut.com/l/_5lPfqSA852Zc
https://dl.doubtnut.com/l/_1UXXrA5hOGIn


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y4 + 1

y2

(y + )
2

1

y

(y − )
2

+ 2
1

y

(y + )
2

− 2
1

y

160. If  then find the value of .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α + β = − 7 and αβ = 10 α − β =_

3

−3

−17

17

https://dl.doubtnut.com/l/_1UXXrA5hOGIn
https://dl.doubtnut.com/l/_cEr2sRlICZ0G


161. Which one of the following is true for any two square matrices A and

B of same order?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(AB)T = ATBT

(ATB)
T

= ATBT

(AB)T = BA

(AB)T = BTAT

162. The perimeters of two similar triangles  are

36 cm and 24 cm respectively. If PQ=10 cm, then the length of AB is ____.

A.  cm

B.  cm

△ ABC and △ PQR

6
2

3

10
√6

3

https://dl.doubtnut.com/l/_cEr2sRlICZ0G
https://dl.doubtnut.com/l/_dwqdjA8HHT5V
https://dl.doubtnut.com/l/_5eaZtQMC5JI4


C.  cm

D.  cm

Answer: D

Watch Video Solution

66
2

3

15

163. The slope of the line joining  is . The value of 'a' is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(12, 3), (4, a)
1

8

1

4

−5

2

https://dl.doubtnut.com/l/_5eaZtQMC5JI4
https://dl.doubtnut.com/l/_uIzn3pdrJfFG


164. If , then the value of ' ' is ___.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin θ = cos θ θ

0∘

30∘

45∘

60∘

165. The electric pole subtends an angle of  at a point on the same

level as its foot. At a second point 'b' metres above the first, the

depression of the foot of the tower is . The height of the tower (in

towers) is equal to

A. 

B. 

30∘

60∘

√3b

b

3

https://dl.doubtnut.com/l/_dRvqdk4SOx6D
https://dl.doubtnut.com/l/_0x2Cd2bEyOAm


C. 

D. 

Answer: B

Watch Video Solution

b

2

b

√3

166. A spherical ball of radius  units is melted to make 8 new identical

balls each of radius  units. Then  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r1

r2 r1 : r2

2: 1

1: 2

4: 1

1: 4

https://dl.doubtnut.com/l/_0x2Cd2bEyOAm
https://dl.doubtnut.com/l/_xGqXH3UT9h0u
https://dl.doubtnut.com/l/_ggWgLmRIZIOC


167. A solid sphere of radius x cm is melted and cast into a shape of a

solid cone of same radius. The height of the cone is

A. 3x cm

B. x cm

C. 4x cm

D. 2x cm

Answer: C

Watch Video Solution

168. The standard deviation of a data is 3 . If each value is multiplled by 5

then the new variance is

A. 

B. 

C. 

3

15

5

https://dl.doubtnut.com/l/_ggWgLmRIZIOC
https://dl.doubtnut.com/l/_kN6NXIWc0SET


D. 

Answer: D

Watch Video Solution

22.5

169. Let  then

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

f(x) = √1 + x2

f(xy) = f(x) ⋅ f(y)

f(xy) ≥ f(x) ⋅ f(y)

f(xy) ≤ f(x)f(y)

https://dl.doubtnut.com/l/_kN6NXIWc0SET
https://dl.doubtnut.com/l/_g0ZAcv3i37Hx


170. If  is a bijective function and if , then n(B) is

equal to ____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f :A → B n(A) = 5

10

4

5

25

171. The sum of the exponents of the prime factors in the prime

factorization of 1729 is

A. 

B. 

C. 

1

2

3

https://dl.doubtnut.com/l/_TyKKz5uetAgS
https://dl.doubtnut.com/l/_QO4l0BwtvHDZ


D. 

Answer: C

Watch Video Solution

4

172. If  then find 

.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

13 + 23 + 33 + …. + n3 = 36100

1 + 2 + 3 + . . + n =_ _

170

190

√190

(36100)2

https://dl.doubtnut.com/l/_QO4l0BwtvHDZ
https://dl.doubtnut.com/l/_VFEyWteTQEzt


173. Find the excluded values, if any of the following expressions 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

t

t2 − 5t + 6

−5, 6

5, − 6

2, − 3

2, 3

174. .

A. 

B. 

C. 

÷ =_ _
14x4

y

7x

3y4

98x5

3y5

2x3

3y3

6x3y3

https://dl.doubtnut.com/l/_sGcHj8W09g57
https://dl.doubtnut.com/l/_wVzKpsJHVCyX


D. 

Answer: C

Watch Video Solution

1

6x3y3

175. If  then find the element of .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A =

⎡
⎢
⎢
⎢
⎢
⎢
⎣

2 1 3 4

5 9 −4 √7

3 8 9

7 0 1 4

⎤
⎥
⎥
⎥
⎥
⎥
⎦

5
2

a43 =_ _

1

9

0

8

https://dl.doubtnut.com/l/_wVzKpsJHVCyX
https://dl.doubtnut.com/l/_5lYFFE5WS5AU


176. In a , Adis the bisector of . If AB=8 cm, BD=6 cm and

DC=3 cm. The length of the side AC is

A. 6 cm

B. 4 cm

C. 3 cm

D. 8 cm

Answer: B

Watch Video Solution

ΔABC ∠BAC

177. The equatin of a line passing through the origin and perpendicular to

the line  is

A. 

B. 

C. 

7x − 3y + 4 = 0

7x − 3y + 4 = 0

3x − 7y + 4 = 0

3x + 7y = 0

https://dl.doubtnut.com/l/_pAwbJGbjldBS
https://dl.doubtnut.com/l/_0RPW7hSVUpux


D. 

Answer: C

Watch Video Solution

7x − 3y = 0

178. If , then  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5x = secθ and = tan θ
5

x
x2 −

1

x2

25

1

25

5

1

179. =___.−
1

sin2 θ

cos2 θ

sin2 θ

https://dl.doubtnut.com/l/_0RPW7hSVUpux
https://dl.doubtnut.com/l/_VhNfeaYpr6qE
https://dl.doubtnut.com/l/_BqmbJRJJTFtw


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

tan2 θ

1 − tan2 θ

1 − sin2 θ

180. The difference between the C.S.A and TSA of a right circular cylinder

is ___.

A. 

B. 

C. 

D. 

Answer: B

πr2

2πr2

3πr2

4πr4

https://dl.doubtnut.com/l/_BqmbJRJJTFtw
https://dl.doubtnut.com/l/_6GutRrMSXNDW


Watch Video Solution

181. The range of first 10 prime numbers is ____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2.7

2.9

27

29

182. If

P(AcupB)=`____.

A. 

P (A) = 0.34, P (B) = 0.46 and A and Bareμtuallyexclusiveeventsthen

0.70

https://dl.doubtnut.com/l/_6GutRrMSXNDW
https://dl.doubtnut.com/l/_UoMOrnos4Kmb
https://dl.doubtnut.com/l/_WJteG3ZhpJTS


B. 

C. 

D. 

Answer: B

Watch Video Solution

0.80

8.0

0.20

183. If  then A is ____.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A × B = {(3, 2), (3, 4), (5, 2), (5, 4)}

{3, 5}

{2, 4}

{2, 3, 4, 5}

{3, 2, 1, 6}

https://dl.doubtnut.com/l/_WJteG3ZhpJTS
https://dl.doubtnut.com/l/_WRkYUT2ukxvO
https://dl.doubtnut.com/l/_tMMieGJ6X22Y


184. Let f be function  be defined by . The

pre-image of 29 of _____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f :N → N f(x) = 3x + 2, ξnN

87

89

9

31

3

185. If the sequence  are in A.P. then the sequence 

 is

A. a geometric progression

B. an arthmetic progession

C. neither an A.P. nor G.P.

t1, t2, t3, …

t6, t12, t18, …

https://dl.doubtnut.com/l/_tMMieGJ6X22Y
https://dl.doubtnut.com/l/_xzKWe6YZgkEZ


D. a constant sequence

Answer: B

Watch Video Solution

186. The HCF if 340 and 412 is ___.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4

3

12

6

https://dl.doubtnut.com/l/_xzKWe6YZgkEZ
https://dl.doubtnut.com/l/_bOkvWBo4c9ut


187. If the product of two monomials is  and their G.C.D is  then

their LCM is ___.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

72x5 6x2

72x3

6x2

432x7

12x3

188. If the difference between the roots of the equation

 is 7 then the value of k is ___.

A. 

B. 

C. 

x2 − 13x + k = 0

15

30

−30

https://dl.doubtnut.com/l/_I1F2Dy09VH8Q
https://dl.doubtnut.com/l/_uAi4L9FJZyNy


D. 

Answer: B

Watch Video Solution

−13

189. Find the sum and product of the roots for the quadratic equation

 is ____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + 8x − 65 = 0

8, − 65

−8, − 65

−8, 65

−8

65

https://dl.doubtnut.com/l/_uAi4L9FJZyNy
https://dl.doubtnut.com/l/_CvCQTQBQFYy2


190. If the order of left hand matrix  and order of right hand matrix 

 then find the order of product matrix is ___.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3 × 3

3 × 2

3 × 2

3 × 3

2 × 3

2 × 4

191. How many tangents can be drawn to the circle from an exterior point

?

A. one

B. two

C. infinite

https://dl.doubtnut.com/l/_Iptgsa3McroZ
https://dl.doubtnut.com/l/_RImdWa2VGmcp


D. zero

Answer: B

Watch Video Solution

192. The equation of the straight line whose x and y intercepts are 2 and

-3 respectively is ___.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − 2y + 6 = 0

3x + 2y − 6 = 0

3x − 2y − 6 = 0

3x − 2y = 0

https://dl.doubtnut.com/l/_RImdWa2VGmcp
https://dl.doubtnut.com/l/_2VbWcYeDBSnF


193.  is equal to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(1 + tan θ + secθ)(1 + cot θ − cos ecθ)

0

1

2

−1

194. If the ratio of the height of a tower and the length of its shadow is

, then the angle of elevation of the sum had measure.

A. 

B. 

C. 

D. 

√3: 1

45∘

30∘

90∘

60∘

https://dl.doubtnut.com/l/_7gX5TV5XjdRo
https://dl.doubtnut.com/l/_sZRsiRf0QzZ2


Answer: D

Watch Video Solution

195. The curved surface area of a right circular cone of height 15 cm and

base diameter 16 cm is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

60πcm2

68πcm3

120πcm2

136πcm2

196. If the mean and standard deviation of a data are 8 and 2 respectively

then the co-efficient of variation is ___.

https://dl.doubtnut.com/l/_sZRsiRf0QzZ2
https://dl.doubtnut.com/l/_IvB1anbUd1xJ
https://dl.doubtnut.com/l/_s2VutcTjgSAU


A. 0.16

B. 0.25

C. 0.52

D. 0.61

Answer: B

Watch Video Solution

197. If  find the

A and B.

A. 

B. 

C. 

D. 

Answer: B

B × A = {( − 2, 3), ( − 2, 4), (0, 3), (0, 4), (3, 3), (3, 4)}

{ − 2, 3}

{ − 2, 0, 3}

{3, 4}

{ − 2, 3, 4}

https://dl.doubtnut.com/l/_s2VutcTjgSAU
https://dl.doubtnut.com/l/_rWWIZQCpwt2S


Watch Video Solution

198. A curve drawn in a graph represents a function, if every ____ line

intersects the curve in at most one point.

A. Atmost one point

B. At least one point

C. At most two points

D. At least two points

Answer: A

Watch Video Solution

199.  (mod 100)

A. 

B. 

74k =_ _

1

2

https://dl.doubtnut.com/l/_rWWIZQCpwt2S
https://dl.doubtnut.com/l/_xSaYpykwcoPa
https://dl.doubtnut.com/l/_10ma1lyaFvT5


C. 

D. 

Answer: A

Watch Video Solution

3

4

200. Fill in the blanks, if the term are in G.P. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

, , , …
1

8

3

4

9

2

27
64

27

27
8

6

https://dl.doubtnut.com/l/_10ma1lyaFvT5
https://dl.doubtnut.com/l/_n0SR79tTpjFz


201. Determine the nature of root for the quadratic equation

 is ____.

A. real and unequal roots

B. real and equal roots

C. no real roots

D. None of these

Answer: C

Watch Video Solution

2x2 − 2x + 9 = 0

202. If the graph of the given quadratic equation touch the x-axis at only

one point, then the given equation has only one root which is same as

saying____.

A. two real and unequal roots

B. no real roots

https://dl.doubtnut.com/l/_Wz2KBuxdrwmF
https://dl.doubtnut.com/l/_jf0M4X5aIAGn


C. two real and equal roots

D. only one root

Answer: C

Watch Video Solution

203. If a matrix has 16 elements, what is the number of possible

orders=____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4

5

8

16

https://dl.doubtnut.com/l/_jf0M4X5aIAGn
https://dl.doubtnut.com/l/_FV0btNSWpkq1
https://dl.doubtnut.com/l/_SOckPTjh6hAr


204. If

then the length of AE=

A. 1.4 cm

B. 1.8 cm

C. 1.05 cm

D. 1.2 cm

Answer: A

Watch Video Solution

△ ABC, DE ∣ ∣ BC, AB = 3.6m, AC = 2.4cm and AD = 2.1cm

205. What is the slope of the line whose inclination is ?

A. 

B. 

C. 

30∘

√3

1

√3

1

https://dl.doubtnut.com/l/_SOckPTjh6hAr
https://dl.doubtnut.com/l/_5e3wKd4kANzR


D. 

Answer: B

Watch Video Solution

0

206. Who is the "Father of Trigonometry"?

A. Euclid

B. Al-khwarizmi

C. Pythagoras

D. Hipparchus

Answer: D

Watch Video Solution

207. .tan 60∘ cos 60∘ + cot 60∘ sin 60∘ =_ __

https://dl.doubtnut.com/l/_5e3wKd4kANzR
https://dl.doubtnut.com/l/_Hy6XQpTdkFLz
https://dl.doubtnut.com/l/_Lp1r2m3K8CFp


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√3

2

√3 + 1

√3 + 1

2

+ 1
√3

2

208. If the height is 2m and the base area is  then find the volume

of cylinder=_____.

A. )`

B. 

C. 

D. 

Answer: B

250m2

125m3

500m3

500πm3

125πm3

https://dl.doubtnut.com/l/_Lp1r2m3K8CFp
https://dl.doubtnut.com/l/_qC8jd6wxrI6r


Watch Video Solution

209. The greatest value of a collection of a data is 72 and the least value

is 28. Then, the co-efficient of range is ____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

44

0.72

0.44

0.28

210. Two dice are thrown simultaneously. The probability of getting a

doublet is _____.

A. 
1

6

https://dl.doubtnut.com/l/_qC8jd6wxrI6r
https://dl.doubtnut.com/l/_16lUUL8hKHNh
https://dl.doubtnut.com/l/_ovv9yOcTyUjX


B. 

C. 

D. 

Answer: A

Watch Video Solution

1

36

1

3

2

3

211. If  is defined by , then the preimage of 27

are ____.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f :R → R f(x) = x2 + 2

5, − 5

√5, − √5

5, 0

0, 5

https://dl.doubtnut.com/l/_ovv9yOcTyUjX
https://dl.doubtnut.com/l/_nLrSDfbm4B2m


212. If  then 

 is ____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

A = {a, b, c}, B = {2, 3} and C = {a, b, c, d}

n[(A ∩ C) × B]

4

8

6

12

213. If  and if fog=gof then the value of 'a'

is ____.

A. 

B. 

f(x) = ax − 2, g(x) = 2x − 1

−3

3

https://dl.doubtnut.com/l/_nLrSDfbm4B2m
https://dl.doubtnut.com/l/_RlavsrIAa0HE
https://dl.doubtnut.com/l/_Cccz822EHqUM


C. 

D. 

Answer: B

Watch Video Solution

1

3

13

214. If  then the value of  is ____.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a1 = − 1 and an =
an− 1

n + 2
a4

−1

20

−1

4

1

840

−1

120

https://dl.doubtnut.com/l/_Cccz822EHqUM
https://dl.doubtnut.com/l/_YVlnimUSzQgd


215. The first term of an A.P. whose 8th and 12th term are 39, 59

respectively.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5

6

4

3

216. Sum of infinity terms of a G.P. is 12 and the first term is 8. What is the

fourth terms of the G.P is ___.

A. 

B. 

C. 

8

27

4
27

8

20

https://dl.doubtnut.com/l/_FzE2CAsA2v5Q
https://dl.doubtnut.com/l/_J3JCoYISqN7F


D. 

Answer: A

Watch Video Solution

1

3

217. Sum of first 'n' terms of the series  is ___.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√2 + √8 + √18 + …

n(n + 1)

2

√n

n(n + 1)

√2

4

218. .× =_ _
x2 + 7x + 12

x2 + 8x + 15

x2 + 5x

x2 + 6x + 8

https://dl.doubtnut.com/l/_J3JCoYISqN7F
https://dl.doubtnut.com/l/_z7t9t1ZbCHhS
https://dl.doubtnut.com/l/_UtqBlnB6Xy3r


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + 2

x

x + 2

35x2 + 60x

48x2 + 120

1

x + 2

219. The real roots of the quadratic equation  are ___.

A. 

B. 

C. 

D. no real roots

Answer: C

Watch Video Solution

x2 − x − 1 = 0

1, 1

−1, 1

,
1 + √5

2

1 − √5

2

https://dl.doubtnut.com/l/_UtqBlnB6Xy3r
https://dl.doubtnut.com/l/_tcVipEXXhNT0


220. If  then

B=_____.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2A + 3B = [
2 −1 4

3 2 5
] and A + 2B = [

5 0 2

1 6 2
]

[
8 −1 −2

−1 10 −1
]

[
8 −1 2

−1 10 −1
]

[
8 1 2

1 10 1
]

[
8 1 0

−1 10 −1
]

221. The square root of  is ___.

A. 

B. 

C. 

4m2 − 24m + 36

|4(m − 3)|

|2(m − 3)|

∣∣(2m − 3)
2∣∣

https://dl.doubtnut.com/l/_tcVipEXXhNT0
https://dl.doubtnut.com/l/_8akYfB2pASxf
https://dl.doubtnut.com/l/_Mbbcv54272aG


D. 

Answer: B

Watch Video Solution

|(m − 3)|

222. In the figure, DE||BC, BD=x-3, BA=2x, CE=x-2, and AC=2x+3. Find the

value of x. 

https://dl.doubtnut.com/l/_Mbbcv54272aG
https://dl.doubtnut.com/l/_pVJNKDuMHc2d


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3

6

9

12

223. If ABC is a triangle and AD bisects, AB=4 cm, BD=6 cm, DC=8 cm then

the value of AC=____.

A.  cm

B.  cm

C.  cm

D.  cm

Answer: A

16

3

32

3

3

16

1

2

https://dl.doubtnut.com/l/_pVJNKDuMHc2d
https://dl.doubtnut.com/l/_0yUlGK3wrgfw


Watch Video Solution

224. In a triangle bisector of an angle bisects the opposite side. Find the

nature of triangle.

A. right angle

B. equilateral

C. scalene

D. isosceles

Answer: B

Watch Video Solution

225. A line which intersects a circle at two distinct point is called _____.

A. Point of contact

B. secant

https://dl.doubtnut.com/l/_0yUlGK3wrgfw
https://dl.doubtnut.com/l/_yIrB3NfQToFr
https://dl.doubtnut.com/l/_dbH8dFytR6cV


C. diameter

D. tangent

Answer: B

Watch Video Solution

226. In the given figure, if OC=9cm and OB=15cm the value of OB+DB=____. 

A. 

B. 

23cm

24cm

https://dl.doubtnut.com/l/_dbH8dFytR6cV
https://dl.doubtnut.com/l/_hX4amN9dPc4y


C. 

D. 

Answer: C

Watch Video Solution

27cm

30cm

227. In figure  then the radius of the

circle is ____. 

A.  cm

B. 2 cm

∠OAB = 60∘ and OA = 6cm

√2
3

2

https://dl.doubtnut.com/l/_hX4amN9dPc4y
https://dl.doubtnut.com/l/_4wzMLtfEIt1b


C.  cm

D.  cm

Answer: C

Watch Video Solution

3√3

2√3

228. Find the equation of the straight line passes through the point

 which is parallel to the y-axis is ____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(5, 3)

y = 5

y = 3

x = 5

x = 3

https://dl.doubtnut.com/l/_4wzMLtfEIt1b
https://dl.doubtnut.com/l/_5prQ2oyKRKzP
https://dl.doubtnut.com/l/_9BP3x2Ja0Ear


229. The y-intercept of the straight line  is _____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − 4y + 8 = 0

−8

3

3

8

2

1

2

230. Find the value of P, given that the line  passes through

the point (-4, 4) is ____.

A. 

B. 

C. 

D. 

= x − p
y

2

−4

−6

0

8

https://dl.doubtnut.com/l/_9BP3x2Ja0Ear
https://dl.doubtnut.com/l/_ccFrw1pnAJ2x


Answer: B

Watch Video Solution

231. The slope of the straight line  is ___.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2y = x + 8

1

2

1

8

2

232. Find the value of 'a' if the line  are

parallel.

7y = ax + 4 and 2y = 3 − x

https://dl.doubtnut.com/l/_ccFrw1pnAJ2x
https://dl.doubtnut.com/l/_Tbmgdt5fLuNU
https://dl.doubtnut.com/l/_UspqVpymkXzW


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a =
7
2

a =
−2

7

a =
2

7

a =
−7
2

233. If  then ____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan θ + cot θ = 3, tan2 θ + cot2 θ =

4

7

6

9

https://dl.doubtnut.com/l/_UspqVpymkXzW
https://dl.doubtnut.com/l/_vX8m9MaIHatc


234. If  then =_____.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x = a secθ and y = b tan θ b2x2 − a2y2

ab

a2 − b2

a2 + b2

a2b2

235. The angle of elevation of the top of tree from a point at a distance of

250 m from its base is . The height of the tree is ____.

A. 250 m

B.  m

C.  m

60∘

250√3

250

√3

https://dl.doubtnut.com/l/_vX8m9MaIHatc
https://dl.doubtnut.com/l/_HgJai927RS6R
https://dl.doubtnut.com/l/_Z8pI9CYExJoW


D.  m

Answer: B

Watch Video Solution

200√3

236. The angle of depression of a boast from  high bridge is .

The horizontal distance of the boat from the bridge is ___.

A. 150 m

B.  m

C. 

D.  m

Answer: A

Watch Video Solution

50√3 30∘

150√3

60m

60√3

https://dl.doubtnut.com/l/_Z8pI9CYExJoW
https://dl.doubtnut.com/l/_tST7V03k3UKx


237. A ladder of length 14 m just reaches the top of a wall. If the ladder an

angle of  with the horizontal, then the height of the wall is ____.

A.  m

B.  m

C.  m

D.  m

Answer: C

Watch Video Solution

60∘

14√3

28√3

7√3

35√3

238. The ratio of the volumes of two sphere is 8:27. If r and R are the radii

of spheres respectively, then  is___.

A. 

B. 

C. 

(R − r) : r

1: 2

1: 3

2: 3

https://dl.doubtnut.com/l/_RPBnaA278QaS
https://dl.doubtnut.com/l/_jTIc3hquMvFL


D. 

Answer: A

Watch Video Solution

4: 9

239. The material of a cone is covered into the shape of a cylinder of

equal radius. If the height of the cylinder is 5 cm. then height of the cone

is ___.

A. 10 cm

B. 15 cm

C. 18 cm

D. 24 cm

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jTIc3hquMvFL
https://dl.doubtnut.com/l/_R15MlzcQouQa
https://dl.doubtnut.com/l/_scbpGUVLOTbg


240. A solid frustum is of height 8 cm. If the radii of its lower and upper

ends 3 cm and 9 cm respectively, then its slant height is ___.

A. 15 cm

B. 12 cm

C. 10 cm

D. 17 cm

Answer: C

Watch Video Solution

241. When Karuna divided surface area of the sphere by the sphere's

volume, he got the answer as . What is the radius of the sphere?

A. 24 cm

B. 6 cm

C. 54 cm

2

3

https://dl.doubtnut.com/l/_scbpGUVLOTbg
https://dl.doubtnut.com/l/_CC5DbXPReMLS


D. 4.5 cm

Answer: D

Watch Video Solution

242. If the co-efficient of variation and S.D of a data are 35% and 7.7

respectively, then the mean is ___.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

20

30

25

22

https://dl.doubtnut.com/l/_CC5DbXPReMLS
https://dl.doubtnut.com/l/_qX5M3gFkwnpf


243. A letter is chosen at random from the letter of the word

"PROBABILITY". Find the probability that it is not a vowel.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4
11

7
11

3

11

6

11

244. When three coins are tossed, the probability of getting the same

face on all the three coins is ____.

A. 

B. 

C. 

1

8

1

4

3

8

https://dl.doubtnut.com/l/_i0pehdqvXOLq
https://dl.doubtnut.com/l/_1Ur5xjuZI3gw


D. 

Answer: B

Watch Video Solution

1

3

245. The range of first 10 prime numbers is ____.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

9

20

27

5

https://dl.doubtnut.com/l/_1Ur5xjuZI3gw
https://dl.doubtnut.com/l/_dW7Z3eEW9Urg


246. If the data is multiplied by 4, then the corresponding variance is get

multiplied by ____.

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

4

16

2

247. If an event occurs surely, then its probability is ___.

A. 

B. 

C. 

D. 

1

0

1

2

3

4

https://dl.doubtnut.com/l/_zswzw3ZUTNZ4
https://dl.doubtnut.com/l/_fKxYfA4vP0pS


Answer: A

Watch Video Solution

248. The probability of an impossible event is ____.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

0

−1

1

2

249. If the sm of 10 data values is 265 then their mean is ____.

A. 26.5

https://dl.doubtnut.com/l/_fKxYfA4vP0pS
https://dl.doubtnut.com/l/_drQbMAP2krrg
https://dl.doubtnut.com/l/_oEcHtocJzoeY


B. 

C. 

D. 

Answer: A

Watch Video Solution

265

2650

2650

250. If a letter is chosen at random from the English alphabets {a, b,.., z},

then the probability that the tletter chosen precedes x

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

12

13

1

13

21

26

3

26

https://dl.doubtnut.com/l/_oEcHtocJzoeY
https://dl.doubtnut.com/l/_EwqYeheZuTj2


https://dl.doubtnut.com/l/_EwqYeheZuTj2

